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¥k & [ 200 g 97 64 | TAINLE— = B 250 g 324 162
IZONAE D & 180 ¢ 108 97 | DD = B 250 g 324 162
FERE = O .| 150 g 75 — | HEEE = B 270 g 648 270
LwAEL K B 180 g 108 86 | T—AARRAI Y % W 9 ke| 17, 496 14, 580
— .= .= — = T A2 A 15 ke 7, 560 2,376
ENZ A IR B 10 ke 2, 052 1, 836
FEEEICA LA ™ 10 ke 3, 564 2, 700
(< & v/ 15 ke 4,536 3,240
Xy XY =M 10 ke 1, 944 1, 080
L& R = 10 ke|* 3,780 3, 024
o m B 5 ke 2, 484 -
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B A 150 g 97 —
ExzAED FOak L 2 ke 3, 024 2, 376
AN w5 4 kel 3,780 —
i Lok BEIRE 10 ke 2, 700 2, 160
mERE & IF 10 ke 2, 592 2, 160
A LWEIT B 100 g 194 118
LU E 100 g 75 43
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%7 BIRE 1 ke 1, 890 364
VA ™ 5 1ke 2, 160 648




